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General Instructions :
Read the following instructions carefully and follow them :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)
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This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case /Source-based questions with three
sub-questions. Each question carries 4 marks.

Section F — Question no. 37 is Map skill-based guestion with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.

SECTION A

(Multiple Choice Questions) (20x1=20)

By which organization is the Human Development Report published ? 1
(A) World Trade Organisation

(B) Amnesty International

(C) United Nations Development Programme

(D) World Health Organisation

Page 3 of 23
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2. T e i 2. Identify the odd one out. 1
(&) Iﬁi“” WW@ (A) Hindustan Computers Limited
(B) Rdl wwed fefiRe (B) Bharti Airtel Limited
©) fegmm gfvefta fafiee (C) Hindustan Unilever Limited

(D) Bharat Heavy Electricals Limited

(D) 9Ra ¥t fgTes fafies

3. Fod = # ufd & fog @& faswes &1 w17 HifvTe 3.  Choose the correct option to fill in the blank : 1
AR T el SR aik Fiae W siyet # g i gih LRILE The process of removing barriers on foreign trade and investment by the
ST STl & | 1 government is known as
fawew Options:

(A) ™ (A) Import Tax

(B) FaEms (B) Export Tax

(C) TR Xp

(D) e (C) Liberalisation
(D) Industrialisation

4, 993wy Ru e § | s (A) 3 wRor (R) | AT AT R afg el
et ooy &7 93w fifsu 1 4, Two statements are given below. They are Assertion (A) and Reason (R).
sTfEem (A) : IRA SRR TR I el 9 & T W O GHi Ager i Read both the statements and choose the correct option : 1

safem 2 Assertion (A) : Most of the jute industry in India is located in a narrow

belt along the banks of Hugli river.
FH (R ;A 9EHA T frafaes
! LA 8l Reason (R) : India is the second largest exporter of jute.
frTeg: Options :
(A) (A) 3 (R) 3FT @&t & 3 (R), (A) fraft s | (A) Bf?(ti) (A) and (R) are true and (R) is the correct explanation
0 :
(B) (A) 3 (R) SMiad & W= (R), (A =T 7
) TR, () e TR (B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).
(C) (A)is true, but (R) is false,
(D} (A)is false, but (R) is true.

(C) (A) THE, W (R) T
(D) (A) T &, WA (R) W2
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a. G g TqfaEn i, IWEs

b. WY« iz i, TEH

c. UfEwawied iii, W

d. e UhE 3aE iv. A

\EETe

(A)  a, b, c-iii, d-iv
(B)  a-ii, b-iii, ¢-iv, d-i
(C) a-iv, b-i, e-iii, d-ii

(D)  a-ii, b, c-iv, d-iii

Wﬁﬁm,mw&m,w%ﬁﬁwmwmﬁw
%W-ﬁw%%qmammmémﬁﬁ%lwqﬁﬁmﬂa
m%,ﬂ%ﬁ%m@mwwmm%lﬁﬁmmﬁﬁ
iy St g faftr s soaim =t 2 2

a) Ty

(B) e N A FY

(C) e Shiferert iy

(D) e $Y

Tl ATt % S § forw S & el ¥ swfe o gty A faew @
art wered e 2

(A) B (B) =N

(C) diferar (D) WAt

it ®9% ¥ Hed # adar W fadt SqF R st Frafafea § @ e
weiter ot ?

(a) e fae R

(B) =g AR Al

()  ifa i =

(D) T T LT % G 1
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Match Column I with Column II and choose the correct option :

Column I Column IT
a. Sariska Wildlife Sanctuary i. Uttarakhand
b. Manas Tiger Reserve ii. Rajasthan
¢. Periyar Tiger Reserve iii. Assam
d. Corbett National Park iv. Kerala
Options :

(A)  a-, b-ii, c-iii, d-iv
(B) a-ii, b-iii, c-iv, d-i
(C) a-iv, b-i, c-iii, d-ii
(D)  a-ii, b, c-iv, d-iii
Mrs. Monica, along with her family, clears a piece of land and grows
grain and other food crops to feed her family. When the soil’s fertility

decreases, she prepares another piece of land for agriculture. Which of
the following methods of agriculture does she use ?

(A) Plantation farming
(B) Slash and burn farming
(C) Intensive subsistence farming

(D) Commercial farming

The germs of which disease paved the way for Europe’s conquest of
America in the later half of the sixteenth century ?

(A) Cholera (B)
(C) Jaundice (D)

Smallpox
Malaria

In reference to the Germania allegory the “olive branch around the
sword” symbolizes which one of the following ?

(A) Being freed

(B) Heroism and strength

(C) Willingness to make peace

(D) Beginning of a new era
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0. Prffes i @ g aarar. 1 ddu e T fie 3 €7 1

A fRwe
(B)  we uty
(© dyfy
(D) FEh

10. mﬁm‘mﬁﬁmmmﬁﬁﬁmm
Waﬁ'ﬁiﬂ;: 1
I. SR TEmE
I  {Se9ameE
I, <9RY 9mwE
IV. WSIaanmE

faweq:

(A LIIII IV
B IOLILIIV
©) ILLIV,IOI
(D) WL IV,ILI

11. =it S § For o i1 e e 8 2 Frefafaa wwot # ofer ot wew
9 fawed 1 997 Fife 1
I <o ol Sucteadn
[I.  OmaR & qcTeyar
1. o <hi &sft ud sifeer wfsmar
IV.  =uTreff il Sieshar
\CCTo: i
(A)  FaEA1, 11 3RII & &

(B) FaIL, III 3R IV T &)
(C) FaAL I ARIV G|
(D) FE« 1,11 3RIV T )
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9.  Which among the following newspapers is related to Ba
Tilak ?
(A) Hindustan
(B) Bangla Patrika
(C) Veer Bhoomi
(D) Kesari

10.  Arrange the following historical events in chronological order and choose

the correct option :

1. Bardoli Satyagraha

II. Rowlatt Satyagraha

III. Champaran Satyagraha
IV. Kheda Satyagraha
Options :

(A) LILILIV

MB) OLILLIV

(c) II,IIV,II

(D) I, IV,ILI

1 Gangadhar

11. Why is it not easy to get loans from the formal sector ? Read the following

reasons and choose the most appropriate option :

I Availability of Banks
II.  Availability of Collateral
III. Long and Complicated Loan Process
IV. Awareness of Borrower
Options :
(A) OnlyI, II and III are correct.
(B) Only II, III and IV are correct.
(C) Only I, II and IV are correct.
(D) Only L, III and IV are correct.
| 32/3/2 Page 9 of 23
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12.  FrefuRes Rl ¥ smaR W A H TEEE AT st ad | b 12.  Identify the sector on basis of the following characteristics and choose the
T 1 correct option : 1
. The objective of this sector is to earn profit.

o U &TE 1 IevE O ARTA FET AT |

; ; . This sector is owned by a person or company.
: imf@ﬁ:;a:;ﬁ;m;:i: Iﬂaﬁ-&ﬁm% I . Tata Iron and Steel isi example of thisI:;ecij;:Jr.
Options:
T : (A) Cooperative Sector (B) Unorganised Sector
(&) wEwh & (B) mfad A (C) Public Sector (D) Private Sector

(©) uEshE &F (D) frft &

18. Data related to an imaginary country is given below. Study these data
and answer the question that follows : 1

13. ﬁﬁ@mﬁﬁwﬁwﬁxﬂmﬁqw%ﬁﬁ@mmmaﬂt

I 9 fa e g I e 1 Age Totlal Population | Net Attendance
3 el SAae g Iuitafd 7 and 8 years of age 1200 1000
7 @ 8 T H A 1200 1000 14 and 15 years of age 1000 800
14 71 15 a9 i1 A 1000 800 Total 2200 1800
FA 2900 1800 ';‘:e atter;dance percentage of this country of the age group of 14 and
years is .
TR aﬁ%:sngaﬁw _____%| (A) 90 percent (B) 80 percent
(@) 90 ufwm (B) 80 wiewTa (C) 170 percent (D) 60 percent
(C) 70 gfcrer (D) 60 fwra

14, Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option : 1

14.  #9 @ FuA | & ifirpee FoAT
e (&) ¥R (R) & 1 340 I dfer 3 Assertion (A) : Every party in India has to register with the Election

Sl e 0 W3 WL 1 Commission.

BT (A) : WG T TE T B LS ST o UTH US{ 1T ST Bl & | Reason (R) : The Government provides election symbols to all political
SR (R) ;A H et i Gl Bl AR A g S R 8 ) parties in India.

forweg Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is rot the correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

(A) (&) 3 (R) AT EEE 3T (R), (A) Frwdi=qren |

(B) (A) ¥R (R) A TE &, T (R), (A) ht &t v 7¥ 3 |
(C) (A) TR, W (R) T 2

(D) (A) 7T 8, W= (R) &R

I 32/3/2 Page 10 of 23 I I 32/3/2 Page 11 of 23 P.T.O. l
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15. ﬁn%%ﬁﬁﬂﬂ?-mwaﬂwﬁa'g&i@?%?
() . @) fgeft-sml
(©)  Feppe (D) sish-T
16. mﬁmﬁwﬁ@n@,maﬁ@ﬁmﬁmﬁaﬁwm
sty s e i @ 2 ey v R = A
L o aehf o R s e we o s |
I omedhast § o-ferd nfe aget & stfarda & |
I o e g o wimafien i 0 A SR A |
IV, o o g R e A e i e @ A A S < A
Afartar 2|
fa=ea
(A)  HEAI, IR @ L @) A, IV EE
(©)  Faw I, 13RIV wdr &) (D) el L, I i IV W& |
17.  Frefefes & & S-ar sy Sfe o w5t yefifa w8 ?
(A)  HTeATa 3 e 1 e el o WA & e & e g
(B) ofeeail 1 ot & Ft o difta e |
(C) el &I Stk AT J&™ FE |
(D) TRST O ATl S G FATTHR YT F |
18. et # ¥ v gfte gu w1 =@ A
(A) wmEdigsr - frEm
(B) swadiget — i
© wwEdigd - gfem
(D) wwEdgE - AR
19. une & Frefafes & @ e 3o nfeed sem e A W E 2
(A) Tt (B) foum ufwe
(C) TsgEW (D) =TT
20. Frafefaa § & FF-8 s wiedty d@foam A smee o § i g 2
(A) gl (B) @
(C) TrEdTt (D) dfirer
I 32/3/2 Page 12 of 23
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15. Which of the following group is in majority in Sri Lanka ?
(A)  Tamil-speakers (B) Sinhala-speakers

(C) Telugu-speakers (D) English-speakers

16. To reform the party system, which of the following tasks have been n:Jade
compulsory for the political parties ? Choose the most appropriate option.

L It is now compulsory for all the political parties to file income tax
returns. ;

II. It is now compulsory for all parties to have one-third women
candidates.

[ It is now compulsory for all the political parties to hold their
organisational election.

IV. It is now compulsory for all candidates to disclose information
about pending criminal cases against them through affidavit.

Options:
(A) Only]I, II and III are correct.
(C) Only], III and IV are correct.

(B) Only], II and IV are correct.

17.  Which of the following statements represent gender equality ?
(A) The value of women’s vote is more than that of men.
(B) Restricting women to household chores.
{(C) Providing more rights to men.
(D) Providing voting rights equally to men and women.

18. Choose the correctly matched pair from the following :
(A) Concurrent List — Education
(B) Concurrent List — Defence
(C) Concurrent List — Police
(D) Concurrent List — Trade

19. In which one of the following organs of India are women taking
advantage of reservation ?
(A) Municipality (B) Legislative Council
(C) Rajya Sabha (D) Judiciary

20. Which one of the following languages is included in the Eighth Schedule
of the Indian Constitution ?

(A)+ Bhojpun (B) Magadhi
{C) Rajasthani (D) Tamil
I 32/3/2 Page 13 of 23

(D) Only II, III and IV are correct.
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(i e ) (4x2=g)
21, (F) ‘T gar I e @ fadwarl &1 v A 2
FerET
(@) <= ger i fHe & ferdwaredt & golv iR | 2
22. W % Gt & wa ¥ Aftrer o i et i s i | 2
23. ¥ 1991 ¥ R 3 s TR Y 31 ol Afet i o e g 2 SR AINTL 2
24, 9RG W vuH favg 73 % B 2 anfiler el i S IR | 2
Qug T
(GRERURR L)) (5x3=15)
25. TiHaT fFE YHR Th Suterl, fodar it 3u smad i e S § 2 e
Hifs | 8
26. ST Wi H St §T o ToTq s o avett Rt oft faftrt o e if ) 3
27.  fafoera % aremm % w7 1 73 & R ot it i smen it 3
28. WRAE S F5 3R UsT SR & 0 Aiwdl & deait ) R yER afied
AT 8 7 AT Fferg | i 3
29. (F) WG oA gug o ntd-gwfem aughy % wwEt w1 e fife | 3
AT
(@) v U Siker 3 ool dawm ue i ufte # e i) 3
wUs g
Er-3wda 79 (4x5=20)
30. (®) 9Rd ¥ IE W R e F fag sifaie W g0 =@ 1 st &
STEAT 1T Te 6 Ul A T a8 el ot e ifsig | g4.9=5
HYgGr
@) éf?::;;zﬁ@ﬁﬁwﬁﬁﬁm%mﬁﬁamm )
I 39/3/2 Page 14 of 23 I

21,

22,

23.

24.

25.

26.
27.

28.

29.

30.

I 32/3/2

#
SECTION B
(Very Short Answer Type Questions) (4x2=8)
(a) Describe any two features of ‘arid soils’. 2
OR
(b)  Describe any two features of ‘forest soils’. 2
Explain the effectiveness of horizontal distribution of power in the
context of India. 2
What changes did the Government of India make in its economic policies
in the beginning of 1991 ? Explain. 2
Mention any two economic impacts of the First World War on India. 2
SECTION C
(Short Answer Type Questions) (5x3=15)
How does democracy establish an accountable, responsible and legitimate
governance ? Explain. 3
Describe any three ways of water conservation used in ancient India. 3
Explain any three functions of money as a medium of exchange. 3
How does the Indian Constitution ensure the division of powers between
the Union and State Governments ? Explain. 3
(a) Analyse the impacts of Gandhi-Irwin pact on the Indian freedom
struggle. 3
OR
(b)  Analyse the role of Alluri Sitaram Raju in the Indian National
Movement. » 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a) Explain the measures taken by the colonial government to censor
the press in India and analyse their effects on the nationalist
movement. 3+2=5
OR
(b) How did the printing press contribute to the emergence of new
genres of writing in the 18th century ? Explain. 5

Page 15 of 23
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(oG

e T I |

o

(F)  srhormr ¥ weer w fl e i s wid
areraT

(@) i e i s i § 1 o o G & 8
a0 AR g B o g A % Pl A 3 T
w9 H T EF 2 _ 3

@ e w Y 3 i i) g 2 o g A oo e )
mﬁ@%ﬁmwmwwﬁiﬁﬁmﬁ
gEEF A | S

Y E

@) W?ﬁﬁﬁm@%m%imwﬁmﬁ@?ﬁma@%l@ﬁﬁﬁ
mmmmmmﬁmﬁaﬂﬁ@?ﬁﬁmﬁﬁ@
WA o &1 Y 9T e s 3 At | 3+2=5

(F) - enifre we s 6 qfad o 2 1 @ e A A

areraT
(@) o i Al FEHa e w ag w1 9 39 gl | 5
QST
(S /ATT-ATHTRE I99) (3x4=12)
fau MU Ea @1 afew 3R 3TE A Ry My v % S AN
Tt gmeh

i TS A § F H € | G@nfsa dae § F SOW AU FR-TH
I ¥ vl JemR iy vty Prafie B ¥ oit gefag @it & o g w
BT 2 | 3 & BER T SSEd S § ol 3% et Pt wd Tt
s w1 i 2 | @ Pt ol fafrel w0 oone foftet S — s
sifufram, =an Awed sttt S sififem, e o afvem sififem,
Tentz § Seorg fRaT T R | 39 EISA & G § i 36 39 s
whiramt o wrifaft 2 1w g A el & g P = o ot 3 =
I FFEHS F, T 3¢ ol AW H W & qHE Tofiga BT BT 3 AN

Frit wa Pl 1 STIITE FET A 2 |

(34.1) TNf3a 2 F1 w1 qumedt i foref) Tk farshyan =1 seora Hifva | 1

(34.2) Tea &% F FH=tEl F1 Friem g0 fem T Rl e 9w
Hifsu | 1

(34.3) TT-TSATR & 92 ¢ Et T i TR o FE o A W aEE 0 2
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(a)  Distinguish between public and private sector of economy with
examples. 5
OR
(b)  Suppose you are the Sarpanch of your village. What suggestions
will you give for creating additional employment in the village, so
that the problem of unemployment of the residents of rural areas
can be reduced ? 5
(a) The Government of India has invited some suggestions for
technological reforms in agriculture. Propose any five technological
reforms to the Government for the betterment of agriculture. 5
OR
(b)  Suppose you are a farmer. You want to cultivate tea in India.
Describe any three geographical conditions which will be conducive
for tea cultivation in India and write the names of two major
tea-producing states of India. 3+2=5
(a) “Secularism is the very idea of Indian Constitution.” Justify the
statement. 5
OR
(b) Suggest any five measures to establish the gender equality of
labour. 5
SECTION E
(Case/Source-Based Questions)
Read the given source and answer the questions that follow :

(3x4=12)

Organised Sector
Kanta works in the organised sector. Organised sector covers those
enterprises or places of work where the terms of employment are regular
and therefore, people have assured work. They are registered by the
government and have to follow its rules and regulations which are given
in various laws such as the Factories Act, Minimum Wages Act, Payment
of Gratuity Act, Shops and Establishments Act, etc. It is called Organised
Sector because it has some formal processes and procedures. Some of
these people may not be employed by anyone but may work on their own,
but they too have to register themselves with the government and follow
the rules and regulations.
(34.1) Mention any one feature of the working conditions of organised
sector. 1
(34.2) Explain any one benefit provided by the employers to the
organised sector employees. 1
(34.3) Why is it necessary for all self-employed people to register with the
government ? 2
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1815%m$aﬁﬁm$w%mmﬁ-wm_ﬁ 'mﬂi”ig
frar | et e A i @) st 2 oft fE T
%%QFWlewm;iﬁmﬁﬂﬁWW“ [””'_tﬂ'”
mmmmam@mm%mwﬁﬁﬁg
wﬁmaﬁgﬁs%mmmmwmmgﬁ%m. o |
me-ﬁﬁwﬁm%ﬂﬁmmm
T 9 |
(35.1) SeTfeal 1 et o Tt wi o geord P |
(35.2) wmﬁwm%m%WWﬂﬁ@ﬁml

(35.3) 1815 % a1 i A & yfm & % w @
i |

few T Hra F ufey 3 I A i e S & I 4R
wig e

?ﬁ%m@w@ﬁa%maﬂtﬁﬁmmﬁﬂg%tmﬁ
ﬁ%m%ﬁ@mm%imﬁﬁ%%@ﬁﬁaﬁaﬁ%mﬁ
o 2 | ez ETeE ST ol s § e 70 SR Sl 3w A
ar T 2 | 3 edas S o e E, S g e A fee v s
%1mmmmmm%ﬁﬂmmwﬁm
g %, fig Tt civeim i A e A S A A (e e
50 & 60 Sfawr a arn ST 2) | A 2018 - 19 § e IR F T GRA
T (97%) Sifem, ST, wled N FNES ¥ U FAT | T I
(3%) 1= TAT § T T |

(36.1) Tora ite 37 & waifoeh T T ST @ ?
(36.2) TEte TR eI Tl SR HE-A18 2
(36.3) “Tite EF UF ATHTOIE T & |7 58 Fe 61 9fE Fifs
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Read the given source and answer the questions that follow :
The Revolutionaries

During the years following 1815, the fear of repression drove many
liberal-nationalists underground. Secret societies sprang up in many
European states to train revolutionaries and spread their ideas. To be
revolutionary at this time meant a commitment to oppose monarchical
forms that had been established after the Vienna Congress, and to fight
for liberty and freedom. Most of these revolutionaries also saw the
creation of nation-states as a necessary part of this struggle for freedom.

(85.1) Mention any one political demand of the liberals.

(35.2) Mention the main cause for the rise of secret societies in European
States.

(35.3) Analyse the
underground after 1815.

reasons for many liberal-nationalists going

Read the given source and answer the questions that follow :
Iron Ore

Iron ore is the basic mineral and the backbone of industrial
development. India is endowed with fairly abundant resources of iron ore.
India is rich in good quality iron ores. Magnetite is the finest iron ore
with a very high content of iron up to 70 per cent. It has excellent
magnetic qualities, especially valuable in the electrical industry.
Hematite ore is the most important industrial iron ore in terms of the
quantity used, but has a slightly lower iron content than magnetite
(50 — 60 per cent). In 2018 — 19, almost the entire production of iron ore
(97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.
The remaining production (3%) was from other states.

(36.1) In which iron ore is the maximum iron content found ?
(36.2) Which is the most important industrial iron ore ?

(36.3) “Iron ore is a basic mineral.” Support the statement.
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 93). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A.  The place where the session of Indian National Congress was
held place in 1927.

B. The place where Mahatma Gandhi broke the Salt Law.

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (a).

(a) (i) Name the place where the session of Indian National
Congress was held in 1927.

(i) Name the place where Mahatma Gandhi broke the Salt Law. 2xI=2

(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
() An international airport of West Bengal
(i) A software technology park of Karnataka
(iii) A nuclear power plant located in Maharashtra
(iv) A major sea port of Odisha

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (b).

(b) Attempt any three questions. 3x1=3
(6] Name the place where an international airport is located in
West Bengal.
(i) Name the place where a software technology park is located
in Karnataka.
(iii) Name the place where a nuclear power plant is located in
Maharashtra.

(iv) Name the place where a major sea port is located in Odisha.
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